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R = 8.314 J/(mol K)= 8.314 x 10 (bar m*)/(mol K)= 83.14 (bar cm®)/(mol K)
- ~ (% (propane) = P-V-T 2w 0 4¢3 f (van der Waals) ;i fis = 2

;¢ (equation of state) # 7+ > E\’r°P:£— a2 » Hoe S ficax bv e
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RAMETEELE D a= %2 ph=—"CoF s T, = 369.8 K %
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Po=42.46 bare 3% 5 /v i & 600K % & f: #4% 175cm’ - mol™ = ¢
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H,0(g) ~ Ha(g) ~ CO(g) ~ CO,(g) ~ CHy(g) 2 CaHe(9) -
OB 4 - = it § K5 g5 (anindependent set of chemical reactions )
H« FF R ko (15 4)
OF B e F 5 sz g d & (degrees of freedom) = #® ? (10 4 )
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=~ - R (turbine) & %8 #2483 7 (adiabatic, steady state operation )
BB EBRREF RALE S ity ~ T S AR 650C2 &4 800
kPa z -k zZF » @ I v RzEF2 B4 L 101.325kPa » 3R
()i W F TV A i%ﬁ—: chighrs (W, shaft work ) - (13 & )
OF FE# g (efficiency =7 % ws /& < wq, reversible process) & &
075 e B v kzEf2ER (64 ) 2% (entropy)- (64 )
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T(C) P(kPa) H, ki/kg S, ki/(kg K)
650 800.0 3810.7 8.2579
300 101.325 3074.4 8.2105
350 101.325 3175.6 8.3797
400 101.325 3278.2 8.5381
450 101.325 3382.3 8.6873

mos G- A BAF R T T A yP=xy PO M N A o B PSS
LA T EF R v d X L L 2 (Antoine equation) # F 40T
3643.31 2665.54

In P™ =16.59158— —— In P =14.25326————~— > H¢
T -33.424 T -53.424

Tz2ZHi: K (Kelvin) ek s BRE =5 kPa; &M 2k (activity

coeff|C|ents) 27 5Iny,=A Iny,=Ax’ » A=2771-0.00523T -

TzZHi+~5% Ko

OfiE & 345 K 2R itk x= 025 i & L su&4 2 48 (vapor
phase) ® = o T GFEEE Ao 0(13/;)

OB R 375 K 2 % ,"E«/%}i X1= 0.75 > ;%"Pﬁ /:‘ VU@J S 3}4 #E“‘ i
T gFRE e S e (12 &)



